HORSES

YWeEEL Dresven

Phone (209) 400-7200 Fax (209) 943-7923 www.wildhorses4x4.com

Retractable Lap Belts
#3639 Date 02/07/12 rev. 0

Parts Hardware
2 ea. Retractor assemblies 6 ea.7/16”x 1 1/2” NF bolts
2 ea. Buckle assemblies 2 ea. 7/16” NF nuts

6 ea. 7/16” lock washers
2 L-brackets

1. We use the stock seat belt mounting hole to mount the L bracket to the floorboard. Use the 7/16” fine thread
bolt to bolt the L bracket to the floor. Do not tighten the bolt completely down at this time, leave it loose enough
for the bracket to rotate on the bolt.

2. Use another 7/16” bolt to mount the belt retractor assembly to the L bracket as shown in the photo. The photo
shows the normal position of the retractor in relation to the seat. Tighten all L bracket and retractor bolts once
you have it in the right position.

3. Mount the buckle to the floor.




